lim /@ =1 prea>1 lim /n=1 lim ¥/n! = oo
n—o0

lim 922 = lim £ = 1
n—00 n—00 z—0 T S0 sin
llm :LL_:L:O hm nn_7;:OO hm %:OOprekEN hm nn_T:OprekEN
n—o00 n—oo v n—00 n—oo
1 n _ 0 % _ 0 1\z _
Jim ()" =e It e)s = o o) =e
nh_)I{.lo <1+%) =€ pre a€ R ilj)r%)(1+ax)% :eCL pre a€R mli_}r{.lo (]_—l‘%)m :ea pre a€R
0 n . — : n _ — — 1 _ez —1 = =
7}1—{{;10 n(ye—1)=1 nh_}rgon(\/a 1) =Ina lim Ina ilir(l) = Ine=1
00 00 ) )
1 1\ _ 1 _ (Ek 1 n_ 1 1 _ OO0 prepe(01)
7}1_}1’1010 (1+ﬁ+ +m) = ngom =€ ngo o o ngoq e g€ (=1;1) nZ::ln_p — {'_> pre p€ (13 00)
/ /P )
(cf) =cf (f£g) =f+d (f9) = f'g+fg g =t

% / all a— a zotl
[konst. =0  [z] =1 /dx:/ldx:a:-l-c [2%]) = az*! /:1: dz = 5

7] = e® /e‘”dx=#—|—c

x
[a*] = a®lna /axdx:ﬁ—a—kcprewo

nz) =21 /df =In|z|+c /’}/((;)) dz =In|f(x)| + ¢ prea>0, ax1

[sinz] = cosx /cosamdx: s

[cosz] = —sinz /sina:cdx:—%—l—c

[sinh 2]’ = cosh / cosh az dz = S224Z 4 ¢ [cosh 2] = sinh x / sinh az dz = <29 4 ¢

/I 1 _ tgax 1 de __ _ cotgaz
[tg l‘] " cos?z /0052 ax t+c [COtg x] T sin?z /sin2 ar a tc
! 1 o tgh ax r_ 1 dz ___ cotghax
[tgh $] ~ cosh?z /cosh ar +c [COtgh LI}] - sinh? z /sinh2 ar a +c
[arcsin x|’ = 11_362 [arccos x] = — 11_x2 /\/ag—fiﬁ = arcsin 17 + ¢; = — arccos i + ¢z
dz _ | 2 2‘ dz . 2 9
= =In|z+va?—a?| +c i =l (z+ Va2 +a?) +c
[arctg 7] = —L5 [arccotg z] = — L5 de = LlarctgZ +¢; = —LarccotgZ +c
1422 1422 z2+a? a a 1 a a 2

de 1 1 o
/x2a2 - 2a [zfa z+a} dx = ln|

2| ¢ a’> — b = (a—b)(a+0)

a®—b"=(a—b)(a"t+a" b+ +ab" 2+ ") a® — b = (a—0b)(a®+ ab+V?)

1—g"=(1-q)1+g+¢F+---+q¢" ") 1-¢=0-90+q+¢)




